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(A) HIT 19T 3 3 HAT 2 37T 7 |

B) HIT 13T 8 M FAT 2T B |

(C) AT 13M 2N T |

(D) YT 13N 2 A1 3 & |

fafafea 9 9 98 gt i gg=e hifse 1

(A) GDPMP = NNPFC + W
(B) NDPpc = NNPpe + g TIca8T

(C) GNPyp = GDPyp + Taesli & 9T I[g 9194 3™
(D) NNPFC NDPMP + W
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Identify the correct equation from the following : 1
(A) GDPyp = NNPpc + Depreciation

(B) NDPpc = NNPgpc + Net Indirect Taxes

(C) GNPpyp = GDPpp + Net Factor Income from Abroad

(D)  NNPpc = NDPyp + Depreciation

11-58/1/1 P.T..
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3. Tmafafaa wuat o afen - e1fispem (A) 3t &rwr (R) | = feu T fommewi #
o Tl foshew g 1
37T (A) : O TR fafa @ arcd siafess Stem &1 srufeafa @ ® |
FRU(R) : O UR i fafa o, aeft sege 9 wem ke o vafd

TG G W USHIR STH BIal & |
IEETR I
(A) ANTHAT (A) 3 SR (R) SHT TcF & 3 SR (R), 31heH (A) Hi
g AT 7 |
(B)  3TfheM (A) 3R ST (R) SHT T 8, oifohd Rl (R), AMHeH (A) I
& ST T 8 |

(C) 3R (A) FF 7, Wlohd R (R) I8 7 |
(D) 3T (A) 3HH 8, Afehd HRUT (R) TF 2 |

4.  “fcT 9 T[T 2023 %, AN Tk TaEES (NSE) o TRl o IR, Th T8
i afy =14, 9 w5 2023 - 9 S 2023, H et €AW fHewmhl (FII) g
T 309 HU i g forsht i T8 off |”
ST TH-¢7 YRd & YA dded T U H g fepa

ST | (Th Tl o Wi & fore @@t fashed &1 =9@ HifSw) 1
(A) =T, Sfee (B) i, shise
(C) =, shise (D) s, Sfere

5. TfIRad W € qgT qd (M) 1 sr@ey fomivar /fasivareti i vgam Hife . 1
(1) 39 9HY % Ueh foig W /11 @1 7 |
(i) S50 GLHR & IE T U g4-HSR bl AfFTId Ta1 T SImar 2 |
(iii) I8 TS TUSE o hrgd Soh & ITE LT g Bieft 1 |

IEEIR
A) @ W 3i) B) (i) 3R (i)
(C) ohad (i) (D)  had (iii)
6. i % AR =] &F GRI TohaT T oA STHNT = |
T TIASH 7 | (fh Tt &l 9 & o @&t faehey &1 =9@ i) 1

(A) &R Y9N, W Hew
(B) T&mad o, df@ 39uim
(C) Ifa e, @ e
(D) &I 394, YRE 39Hi
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3. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1
Assertion (A) : Full employment situation refers to absence of
involuntary unemployment.
Reason (R):  Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

4. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a mnet selling off worth < 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
9th May, 2023 — 9t June, 2023.”

The above mentioned transactions will be recorded on side of

account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1

(A)  Debit, Current (B) Credit, Capital
(C)  Credit, Current (D) Debit, Capital

5. Identify the incorrect feature(s) of money supply (M) from the
following : 1
(1) It is measured at a point of time.

(i1) It does not include stock of money held by the government.
(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (ii) (B) (i1) and (iii)
(C) (1) only (D) (iii) only
6. Total consumption expenditure by households under Keynesian
Economics is a combination of and

Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption

11-58/1/1 P.T..
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(Tep T &1 WA & fore g&t foepew &1 =3m hifse)

S ARRaT ¥ 2 |

7. W (sl hl TgaH HINT I Tl {aehed T I hITT
T STHT | T (80%) STRIET 91T
(20%)
I 5000 4000 (D).
II 4000 .(i1).. 800
$A | L.(GHD).. .(iv).. 5000
farepem
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
8.  YTaW Uqed (BOP) H 31y o1 arcad
(A) TR Titad W SR P
(B) T WIftadi WX =Te] @dT Y
(C) Ut @ Y IS @rar iitaat
(D) WA YTaH W &R Tiieadi
9. el reafTen stdfegawen & o am <fifse 6 :
C =100 + 0-75Y (S&f C = 3UdI 9 Y = 37)
I, = 400 (Ip = @ )
s ek (K) 1 94 B |
(Teh o &1 WA & fore o) faeew 1 =am Fifso)
A 5 B) 4
C) 6 (D) 3
11-58/1/1
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7. Find the missing figures and choose the correct alternative :
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 ().
IT 4000 .(ii).. 800
Total .(iii).. .(v).. 5000
Alternatives :

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000

Surplus in Balance of Payments (BOP) refers to the excess of
(Choose the correct alternative to fill in the blank) 1

(A)  Autonomous payments over Autonomous receipts
(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments

(D)  Autonomous receipts over Autonomous payments

Suppose for a hypothetical economy :
C=100+0-75Y (where C = Consumption and Y = Income)
Iy =400 (Iy = Autonomous Investment)

Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank) 1

(A) 5 B) 4
(C) 6 (D) 3
11-58/1/1 P.T.O.
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10. HH cfifoe foh, T Seuleh dTEEd H YR Fgad T 500 HUS H
3R GdeH guial 8 | O i o1 qed T 1200 HUS 9 LA Jae
T 400 HS B |
T (Merchandise) 3R &l e T HUS BT |
(T=h T &t WA & fore ot fashew &1 =m0 Fifsw) 1

(A) 1700
(B) 750
(C) 1700
(D) 900
11. (%) Uk Flcuqes Adeyaeen & fu fi= u mu Afwsl & Mur W, dred
AT W I TRl 37UTE (NDPpe) % Hod 1 A TEY 3
e i (F g@' 7)
(i) | Sehal SRe TATRM ot fAmior 200
(i) | fr=ta 50
(iii) | 31fcm TR ITUNT = 320
(iv) | earft dsft w1 3uHm 35
(v) | Afom =ie] 399 == 470
ORISR (Inventory) et
(W) (-) 40
(vil) | 3T 60
(viil) | Fg AT T 50
(ix) | focer & 9T g Hh 3= 20

(@)

11-58/1/1
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10. Suppose, the Balance of Trade of an imaginary economy shows a

favourable balance of ¥ 500 crore. The values of merchandise exports are

T 1200 crore and transfer payments are ¥ 400 crore.

The value of merchandise imports would be ¥ crore.

(A)
(B)
(C)
(D)

11. (a)

(b)

11-58/1/1

(Choose the correct alternative to fill in the blank) 1
1700
750
700
900

On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPge) : 3
S. No. Items .Amount
(in < crore)
(1) Gross Domestic Fixed Capital 200
Formation
(i1) Exports 50
(iii) | Government Final Consumption
. 320
Expenditure
(iv) | Consumption of Fixed Capital 35
V) Household Final Consumption
. 470
Expenditure
(vi) | Inventory Investment (Net) (-) 40
(vil) | Imports 60
(viil) | Net Indirect Taxes 50
(ix) | Net Factor Income from Abroad 20
OR
(1) Elaborate the concept of Externalities with the help of
suitable example. 2
(i1))  Define Operating Surplus. 1

P.T.O.
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12. ﬁwﬁﬁmawﬁawm%ﬁm%wﬁ%mﬂaﬁtwﬁﬁm

13. (%) F=AfaRea arfersr 1 g HINT | 3™ & T 200 FHUS H TR TR 99
%o @ i FHif |
37T (Y) T sflaa 39y i s
(THIH) | (THSH) | ¥gft (APC) ygfe7 (MPS)
0 (=) 30 - -
100 | ...l 1
200 | .l 0-8 |
300 | ...l 0-8 |
HAAT
(@) “Tortlt refeaaEen |, YeATieTa Wy ST, TR 9 AT & A g |7
3CITEH, 3T o TSR o &R T 35k JHTE hl AT HIfIY |
14. fafafaa suEt w1 99 qet gra yaTio i .
() hora Sk forell TfoaTen 1 THAT g1 THIhdl TR 3 |
(@) 9z fodfed YAl (Deferred Payments) % A& @ HY o &4 H &R
Tl 2 |
15. T 8 S 2023 % T SHHITS IFH § 3IgYd HHfaIRgd e ol SA-IdH
FERA HINT :
“arta fid o (RBI) 1 @@ fraftor afafd 9 T €9 9 S9dmh 0 g
6:5% W IUiEfid W= o1 Mo fon B | wfufa 3 samee d@ifge Hifa
(Accommodating Monetary Policy) ! A9H o W &IH shigd i & faQ
wagH feran 2 |7
feu U T 3 g gHE o emuR R efaiad 9w % 3w G
(%) I9IH T H T T 3R G I TG T =<1 hIog |
(@) afg o Fufor aftfs 3 3% @ & @ A S, @ ggr mafd & Furfaa
a6t ==t HIfST |
11-58/1/1
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Distinguish between fixed exchange rate system and flexible exchange

rate system.

(a) Complete the following table. Construct/Express the Consumption
function at ¥ 200 crore level of income.

Income (Y)
(in < crore)

Savings
(in < crore)

Average Propensity
to Consume (APC)

Marginal Propensity
to Save (MPS)

0

(=) 30

100

1

200

0-85

300

0-8

(b) “In an economy, ex-ante Aggregate Supply is less than ex-ante
Aggregate Demand.”

Explain its impact on the level of output, income and employment.

Justify the following statements with valid arguments :

(a) The Central Bank is the sole currency issuing authority of an
economy.

(b)  Money serves as a measure of standard of deferred payments.

Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :

“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6-5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”

On the basis of given text and common understanding, answer the
following questions :

(a) Identify and discuss the economic issue indicated in the above text.

(b)  Discuss the likely consequence on money supply if the rate setting
panel would have decreased the said rate.

Page 11
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16. (%) TmfciRaa »i TSea TGl 12T Yoira Wit | affehd hifore, | 3194

IR o 984 H dY T ST ;
(i) RO W ITH AW | ‘ 2
(i)  Toret TRl Hraet bl foshl @ fafers e | 2
(i) YA § SIfctehl &1 1 AicdTiEd B o ol T U5 SR
(USA) §%hR g1 & T Tority w@ma | 2
3T

(@) @) = fau e A w eaYes SemEd i i frefafed W
ThH) 3T H deddd &[T o1 fagawe hifv

(D RIGIEIG] 2
A0 Trer foem . 2
ST ] A (T &rE #13)
5.501 2021-22 E
Z 'gg | v == ®E) 2022-23 _
ppey Il s<c == (BE) 2023-24 N =
3.50 1 o
3.00 1 228 %
2.50 & S o
2.00 - . 2e 3 ? Z
1.50 - S oo ¥ c:g_".',""v—i“i/ /
1.00-@3%%22322 gHH%I% %
0501 .S 5 == 7 7 I
ol IR R R R
s Wl fowm e fien PN EEg  gwfiu RIRIRIG]
T nfafafeat IEETC
(@) () T R’ g e "’ % i 3T wse hifv | 2

FIe: HEIIGT F97 FcT IR ghgniedar & o yo7 &7 16 (i) & €9 |

g/
R Toie o TRt w1 & = Fiflvu | 4

17. (%) Uh fg-8F Hied § 31 % =hig TaTg ! STGUROT 6 689 o sared
%”é'll

3

(@) “Aifgeh Tohal =] 3UE (GDP) i AT H JRdferesh dohel =T 3¢UTG
(GDP) Tereft Trsg hl 3TTieles WG o1 98 dhash & |
F7 39 feU T H ¥ AT 7 2 fREl Q9 weue 9eaTcHe 38
% 1Y U IT hl gfse HIfrT | 3

11-58/1/1 Page 12
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16. (a) Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i)  Interest received on loan. 2
(i1)) Disinvestment receipts from the sale of a government company. 2
(iii) Financial assistance by the Government of USA for promoting

girl education in India. 2
OR

(b)y (@) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

4} Transport 2
(II) Rural Development 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
b~
2.501 2021-22 o
5.001 MMM Revenue Expenditure (RE) 2022-23 o
igg Il Budget Expenditure (BE) 2023-24 . g
3.50 A g
3.00 - o Qo 7
o5 RN
2.00 - - - @. Q2 = V% %
1.50 - Swpheo I~ %8:7#"‘% %
10l 58 pps S S S8 o - mm / /
os0] S n [T 7 %I% n
' Social Welfare Urban Health Education  Agriculture and Rural Transport
Development Allied Activities ~Development
(b) (1) Distinguish between ‘fiscal deficit’ and ‘revenue deficit’. 2

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 b(i).
Explain the stabilisation function of the Government Budget. 4

17. (a)  Discuss briefly the concept of circular flow of income in a two-sector
model. 3
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example. 3

11-58/1/1 Page 13 P.T.O.
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18. f=Afafaa st i afew - afyrred (A) 3R &Rl (R) | = feu 7o fashedt o
¥ T fohew 9w
STfHIT (A) : W dEd U9 & rciys fafema 3 38 St wai =i
gfaeue g9 € ek Tz o |

HRU(R) : TSt & 3 3cq1g ure AR TS T gicehal § 4R
ST ATS8E UTod i | Sl T 991 i off |

%qu .

(A)  FfepYd (A) 3R SRV (R) GHI &cd & 3 HR0 (R), A (A) H
HE AT ¢ |

(B)  3TMheA (A) 3R RO (R) THT T 8, Afehd RN (R), AMMHAT (A)
HE AT T 2 |

(C) 3R (A) IcT B, Wfohd ST (R) T 7 |

(D) 3T (A) 3TH 8, Afehd HRUT (R) TF 2 |

19. 1970 % T W, UTfREA™ 3 3794 I T USSR foharm o |
(Th o &t WA & fore ot faeshew 1 =ram Fifse)

(A)  Tafehcar smaTies ataqT datt
(B)  3UMIHI S&ga3Ti daeh
(C) USthTa aqati gt
(D) foesft ==mm
11-58/1/1
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SECTION B
Indian Economic Development

18. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below : 1

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses
rather than on improving the product quality and

international competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

19. In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank) 1

(A)  Medical infrastructure
(B)  Consumer goods
(C) Capital goods

(D)  Foreign trade

11-58/1/1 Page 15 P.T.O.
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frfTad sheMl &1 SHYde AT HIMT :

FY7 1 : INUARGG IMET & 3Tad, Ui G (I @, 8 9 dR
a7ife) 1 foepra femam T o |

FYT2 ; VR H ATTNh LT o IhE o N driaes 32 fsifesr f&ai =
HgE T o |

feu U seET % I H, Efaiad # 8 wE) ooy w1 =e hifve
(A) HIT 19T 8 3TN HAT 2 3AEH 8 |

(B) Y 130T 2 MM FA 2T 2 |

(C) YT 13M 2T T2 |

(D) Y 13 2 gHI 3 7 |

e it fob Felafgd 5 8 sF-|1 fashed, Y fauom yoret & s@er
W%ﬂmﬁm% :

(A) TIISH, YSHT, THEHT, SehioT

(B)  3IcqTed, IS, JEEehr, Ifen

(C)  TAISH, TEERI0T, YehfonT, Iias

(D)  JEER, Yehfort, Ufem, faawo

frfrfaa el 1 dfeu - SAfiehed (A) 3R &R0 (R) | = feu mu foehedi #
37T (A) : fava =AUR e (WTO) | I8 et i St 8 {6 a8 gee

TS R MY, U TehalWhl 9T HAH Ufdeen & s=- & fore
T s semuTies sereen Temfug =R |

PRU(R) :  TATE WU & wy-wd, fova 3cared ¥ gfg wem 9 Afvaw
THEIYHT 1 35ead ITAM T et ifard 7 |

IEETR I

(A) 3w (A) 3 FROT (R) gHT T § M HRUT (R), b (A) h
& ST 7 |

(B)  3T¥heM (A) 3R ST (R) THT T B, Wfehd RO (R), AMHH (A) I
TEl AT 7T 8 |

(C) 3R (A) TcF 7, Wfohd 1T (R) T 7 |

(D)  3TYYHI (A) IHH 8, Afehd HRUT (R) TF 2 |

11-58/1/1 Page 16
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Read the following statements carefully :

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System :

(A) Assembling, Storage, Processing, Packaging
(B)  Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation

(D)  Processing, Packaging, Grading, Distribution

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R) : It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
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23. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below :

Assertion (A) : China has used the market mechanism to -create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

24. Identify from the following alternatives the incorrect objectives of

regulated agriculture market :

1)

(i1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (1) and (ii) (B) (1) and (iii)

(C)  (iii) and (iv) (D) (i) and (iv)

25. Economic reforms were introduced in India and Pakistan in the years

and , respectively.

(A)
(C)
11-58/1/1

(Choose the correct alternative to fill in the blanks)
1988, 1978 (B) 1991, 1978
1991, 1988 (D) 1981, 1991

Page 19 P.T.O.
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26. Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work under the prevailing
conditions of work and remuneration.

Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

27. Identify which of the following is not a member nation of G20 :

(A) Brazil

(B) Australia

(C) Bangladesh

(D) Argentina

28. (a) “During the colonial period, the occupational structure showed
lopsided movements.”
Do you agree with the given statement ? Justify your answer with
valid arguments. 3
OR
(b)  Elaborate the reasons owing to which the private sector was
regulated under the Industrial Policy Resolution, 1956. 3
11-58/1/1 P.T.O.
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“Gh TS & oTfde @ wHIies wHEl & fawmT 3 98 wekd foum ® R
IR e 2023 & AIE § I o 70 S, fova &1 aam sifs

STEET Tl TS o T 8 17
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(1)

(ii)

(1)
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29. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

(1)

(i1)

30. (a)
(b)
31. (a)
(b)
11-58/1/1

Identify the source of Human Capital Formation (HCF) indicated

in the aforesaid statement.

Elaborate the likely impacts of this source on the economic

development of India.

“United Nations Department of Economic and Social Affairs
indicated that India has overtaken China as the world’s most

populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s.

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China.

State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources.

(i)  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation.
OR

(1) Elaborate the need to promote women’s education in India.

(ii))  Mention any two examples of diversification activities in the

non-agro processing industries.

Page 23 P.T.O.
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(a)  State any two problems faced by farmers during the initial years of
organic farming.

(b)  “In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”
Justify the given statement.

(a) (1) “Under the liberalisation measures taken by the Government
of India, regulation of industrial sector was extremely
crucial.”

Reject or support the given statement with valid arguments.

(i1) “Despite the implementation of Green Revolution, 65 per cent
of India’s population continued to be engaged in the
agriculture sector till the 1990s.”

Justify the given statement with valid explanation.

OR

(b) (i) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies.

(ii) State the importance of “Growth with equity” as the objective
of Indian economic planning.

Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.
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They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting
and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established.

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB).

(c)  Elaborate any two strategies to ensure sustainable development as

adopted by India.
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